HOUSEHOLD ACCOUNTS

Debit =

Credit=

Balance c/d

Balance b/d

Attempt the following question overleaf

May €

1 Opening cash balance 300
3 Wages 900
5 Groceries 80
6 Fuel 300
7 Petrol 80
8 Electricity 75
10 Wages 900
10 Groceries 100
12 Paid window cleaner 50
13 Petrol 80
14  Purchased Wallpaper 95
15  Gifts 100

Balance the account as on 15 May

Use the following headings:

DEBIT:  Total

CREDIT: Total, Groceries, Car, Light and Heat, Other



****COMPLETE THE ANALYSED CASH ACCOUNT IN THIS SPACE****
Debit Credit




